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Cum ulative Review #5 Due:

Directions: Show all work for full credit. Correct answers without supporting
work will receive 1 credit.
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3. Write an equatlon of a sine function with amplitude 2, period 180°, and phase
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5. State the amplltude period, and phase shift for the function y = 8 cos(6 - 30°) .

Y= % come-30)  Awp= [A[ = 5] 8
Y= A cos (&@vc) Yer = 0—’"—9: ”E-E =210 = 3@0 S—

'PS - “’%: ":Zs?— 5() R|c.)h+ ar BCU\

6. Find the exact value of sec % .
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8. Verify that csc x cos x tan x = 1 is an identity.
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9. Find a numerical value of one trigonometric function of x if eer = o
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10. Solve 2cos?x + 7 cosx —4 = 0 for0 < x < 27t.
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11. If xandy are acute angles such that COS X =- and cosy =—, find sin(x +y).
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12. Find the normal orm-of the equation -2x+ 7y =5.
—AX + 7 = = ’*:_):X Ny AV - - O
b JES’I::,‘L By Em—s— "
Ny R W 1 g = e —
o s vEmeee
+{53 T et e SR

13. Find cos 2A if sin A =
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